H-1515

Speed Controller / Valve with Adjusting Dial

Flow Rate Control Valves with One-Touch Coupling

EMiniature Meter Out Part Number | | B | 2 | E |WewhfasThread Sizel Mass ax ghteningl Uit Price | ucousae
MNSPS Type | D H M (9)  [torque (Kgrem]ly - 9 pe(s) 10~30
A o |M3] 157 | 99 | 305 | 80 8 M3x05 | 8 3
| MNSPS M5] 157 | 99 | 305 | 80 8 | M5x08 | 8 12
o — 6 |ms] 167 | 99 | 305 | 104 | 8 M5x0.8 | 10.4 12
W H
- \ :
7{7,4* 0w
. ml
: 11 B
(@ Material: Polybutylene Terephthalate
Thread: Brass (Nickel Plating)
Mstraight Meter Out Part Number| fench Faty Thread Size| Mass |Control | Unit Price | puose
Nl A | B | C2 | E T
SPSNS Type | D H M (9) | Type [1~9pc(s)| 10~30

411 [41.4]1485|34.1 | 98 10 | 18.1 R1/8 341

M5]35.2 | 11.4 [29.12| 11.9 8 159 | M5x0.8 | 29.2

6| 1 [3865]14.85|34.05|11.9 | 10 | 181 R1/8 341
2 | 422|184 | 424 | 119 | 14 | 201 R1/4 424
SPSNS 1 [40.15{14.85|33.87| 139 | 10 | 181 R1/8 33.9 | Meter-Out
8| 2[492]184 4232|139 | 14 |20.18] Ri/4 424
3 1459 |20.6 476 | 139 | 19 | 225 R3/8 417
10 2 | 464 | 18.4 4232|169 | 14 | 20.1 R1/4 424
3 [48.6 206|476 169 | 19 | 225 R3/8 47.7

(® For SPSNS, the tube connection port will not move.

(@ Material: Polybutylene Terephthalate
Thread: Brass (Nickel Plating)

P i Volume
M Miniature Straight Meter Out Part Number onira Wrench Flats Thread |Mass Control| Unit Price | scouate
MNSPJS £ Type | D Color | A | B |C1|C2| E "™ T | SizeM | (g) | Type [i~9pols 10~30
T 41‘_0,1 3.2|M5|W White)| 28 [12.4]27.2]30.2[ 7.8 | 8 [11.2] M5x08 | 13.2
= M3 28.3[11.4)25.1)27.6| 7.9 7 [9.3] max05 | 7.7
4 [——{B (Black) Meter-
; e P MNSPJS| 4 I35 "'((wr") 20 [124272302]88| 8 [11.2] we0s | 14 |
H | 6 [ms5]" " [30.6]12.427.2]30.2 108 ] 8 [11.2] M50.8 | 15
\ | —
L o } <
Cls Ity
o '
-~ M
(@ Material: Polybutylene Terephthalate
IEIEE Thread: Brass (Nickel Plating)
Hin-line SPJNSC Part Number A Unit Price | pissamaate
Twe | D | O Min Max B Mass (9) 19 o) 10~30
Parallel Knurling 4 | (Black) 48.8 52.3 10 139
SPJNSC | 6 ) 52 57 12 18.8
g |W (White) 63 68 15 31
(@ Material: Polybutylene Terephthalate
Thread: Brass (Nickel Plating)
EMiniature In-Line SPJNSK Part Number A Mrench FasThread Si Unit Price | pusoqae
Tyoe D] %% [Min|max| B | © | B | M | (9) [1~9pcis) 10~30
wi 4 |B@lack [ 398 [433] 4 | 10 [ 10 [ 9 | M5x08 | 125
M [
SPINSK |\ whit)| 428 [ 463 | 4 [ 72 [ 10 | 8 | Wens | 134

® Meter-In * In-line

(D Material: Polybutylene Terephthalate » | o Meter Out
Thread: Brass (Nickel Plating) _l Free Flow

Control Flow - - - =

Ordering ‘Part Number| - |Nominal| - Color‘ | JIS Symbol - JIS Symbol
Bample  SPSNS6 - M5 F Ifr [ @ﬁr
MNSPJS6 - M5 - W g y

i

JIS Symbol

3 Specifications

Applicable Fluid|
Operating Temp. Rangef

Operating Pressure Range}

Air

0 ~ 60°C
0.05~0.7MPa

e Part Number [ . Wrench Thread |Mass | Unit Price |Volune DiscountRate
HMLow-height gi:teé%tLH Type | D [l A | B | C | E gyl L | SizeM | () [1-~9pc(s)] 10-30
M3 | 22.0 8 13.5| M3x0.5 | 17.8
B 216 4 |M5([215|164| 8 [115 12.5 | M5x0.8 | 17.9
E - SPCNLH 1 ]235 135 R1/8 | 21.7
———‘ 192 _ | 6 | M5 [225] 1 ho ] 10 | T [ M5k0.8 | 21.2
| ‘ S 1260 16.0| R1/8 | 242
- 01D$ i : H) g. W Specifications
= Applicable Fluid] Air
- \ H Operaing Temp. Rangel -5 ~ 60°C__ *QOperating pressure is set at
(D Material: Body: SUS303 M OperatingPressre Range| 0.05~0.7MPa_ ambjient temperature (20°C).
IS | * For M3 onlyngoeg;'T?Irriﬁhgﬁgeslo@amg)
Valve with Adjusting Dial Part Number Unit Price
WVaive with Acjusting Dia NBDY Type D - J = > - d J S = 1~4pc(s)] 5~10
4 1455 17 | 81 | 11.6 | 55 12 | 16.2 | 30.8
6 |455| 17 | 81 | 11.6 | 495 12 | 16.2 | 30.8
NBDY 8 50 | 225| 95 | 131665 | 43 | 15 19 4
10 | 58 29 |115]151 | 75 20 23 47
12 | 58 29 | 115151 | 79 20 23 47
lSpecifications
Applicable Fluid Air / N2 Gas / Vacuum
Operating Temp. Range 5 ~ 60°C (Non-Freezing)
Max. Operating Pressure 0.7MPa
Negative-pressure -100kPa
i 1.5MPa
) Ordering Part Number| - .Strueture Diagram No. ee;eart Name o [MMaterial
Example SpcNLH4 - M5 :: Rotary Shaft Brass
NBDYS 1 ‘2 3) (4 € Dial L}Iumlnum Alloy, Polyamide, etc.
5 Dowel Pin Stainless Steel
_(® |0-Ring Fluororubber
H 6 (® [Guide Bushin Brass
il 7 (@ |Check Metal Brass
| (® [Main Body Polybutylene Terephthalate
| k 8 © |[Stop Ring Stainless Steel
10 |0-Ring Hydrogenated Nitrile Rubber
# 9 7 (D [0-Ring Hydrogenated Nitrile Rubber
O B 1 |Gasket Hydrogenated Nitrile Rubber
H 4 [Holder Brass
G [Chuck Stainless Steel
''''' N | AN “— |- _( [OuterRing Brass
4 [Push Ring Polybutylene Terephthalate
@ |Joint Case Polybutylene Terephthalate
10 W 2030 G (DAl brass parts are electroless nickel plated.

o | lFeatures

-Linear flow rate characteristics proportional to needle revolutions.
- Dial display makes it easy to control value of flow rate.
+Mounting part with 360° turn provides free mounting.

- Slide locking lever provides easy locking.

IPRECAUTIONS
- Throttle valves for controlling both right and left sides flow rate.
+Not applicable as a stop valve which requires no leakage.
-Fix the dial with slide locking lever after adjusting flow rate.
- Tighten the mounting screw at 0.8N-m or lower.

Bx Example

Flow Rate Characteristics

<NBDY>
D=4 D=8
400,
0.7MPa 350 7MPa
Y 2
g 0.5MPa g3
. < o0 0.5MPa
= H =
2 £ 200 1
o/min 0.3MPa o/min’| | [ {0.3wpa
(ANR) 0w R L]
. a
EEE—— 0 o = {o.1MPa
= Za
L =l
1234567 8910111213 0 1 4 1011121314
Needle Revolutions Needle Revolutions
D=6 D=10, 12
1 700,
1 0.7MPa 00 0.7MPa
2 9 8
g 8 0.5MPa & 500 0.5MPa
: £ 400
& 2
2imin [ILA03MPa g/min300 L foawra
(ANR) = (ANR) 0 ]
—40.1MPa - | L {0.1MPa
— T 100! - e |
e
L ==
123 11213 0 3 11121314

45 7 10 456 10
Needle Revolutions Needle Revolutions

A\

- =7

¢ Manifolds

‘\JAN

O IvA

gl
Ig ) )

@)

!

¢ Bottom Side Mounting Example

H-1516



